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2. (x+3y)?2=al+bxy+oy? W, FFa,b,c ¥ Fat+b+c 9
20

© 21 @25 ® 29 @ 32 ® 35

(2x)2 +2x2xx3y+ (3y)2 = 4x> +12xy+ 9y? O| B2 g+ b4c =
4+12+9 =25 o[t}




3. (Bx-2)2=px2+qx+4 4, F5 p, gl tiste] p-g 9 727

® -49 @ -14 ® 7 @ 14 @21

(Br)2-2x3xx 2+ (-2)2 = 92 - 12x+ 4 O|B& p—g =
9-(-12) =21
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(x+y)? = 2% + 2xy + y*(m?)

(x=y)% = x* = 2xy + y*(m?)

G)u+ww—w=x—ymﬁ

(x +y)(x=y) = 2 + y*(m?)
)

(x+y) =2 +)*(m?)
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ME-e ZL] 7ER20) Ao (x+ y)m, MZ] o] (x-y)m
FE Qo (x+y)(x—y) = 52 -y (m?




7.

(=3x + 2y)(3x + 2y) — (5x + 2y)(5x — 2y) & ZtHo] SFH?

O -15x% + 8y? @ -15x2 + 16y?
@—34)62 + 8y? ® -34x% + 16y?

=(30)% + (29)? - {(52)* + (-2)*}
= —9x2 + 4y? — 25x2 + 4y?
= —34x% + 8y?
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@ (a*-3a+2)m? (@D(a2 + 3a + 2)m?
® (a® +2a+1)m? @ (a®-4a+ 4)m?

® (a®+ 6a+ 9)m?

Eold 3] 7t=2 9] o] (a4 1)m , A= 4] (a+2)m
wratA] 3tEo] Yol (a+ 1)(a+2) = a® + 3a + 2 ©|T}.




(2x + 29)(3x +y) = 6x2 + 8xy + 2y?
(2x — 2y)(3x +y) = 6x2 — 4xy — 2)?

@ (2 + 2)(3r-3) = 6 + 4y - 27
( ( y) :6)62—|—xy—2y2
( )

3x—2y)(2x +y) = 622 — xy — 2y

_--2T-~__ 2y

A 5| 7h2 9] Aol (2x+2y),
Al22] BolE (3x-y) oItk
wtebA] A HE | Yol

(2x + 2)(3x - y) = 6x2 + 4xy — 2)”




10. (x-y+2z)(x+y+2z)E A7) sl 7P dobA 13

@ {(x+y) -z} {(x+y)+2z}
@ {(x-y) -z} {(x+y) -2}
@ {x-(+2}{x+ -2}
@{+9-r {x+9+)
® {(x-2)-y}{(x-2)+y}




11. (x+A)? = x> + Bx + % o[ A, B FoR /M55 AL nE

T=H?
1 2 1 1
A:—,B:— A—_,B:_
@ 91 91 ? 21) 91
@A:—?,B:§2 @A—g,B:—g
A=-=,B=-=
=5 8-

1
(x+A)2:x2+2Ax+A2:x2—|—Bx—|—8—1
1 1 2 1 2

A2= —olBER2 A= AW pg=" A=——-Adup=-=
81 ] 9th1 9° 92[q1 9
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12, (x-2)(x+2)(x® + 4) & AAsHA?

D x*-4 @ x*-16 @ x*-4
@ x*-8 @x4—16

(x> —4)(x* +4)=x1-16




13, (x-1)(x+1)(x%+1)& AASHH?

@ x2+1
® x*+1

(P -1)(x*+1)=x*-1




14.  (2x-3y)2-4(x=Ty)(3x+2y) & Aktote] TFa] §F 210] ax? +bxy-+cy?
A, a+b+c 2 G FoHH?

®-25 ©-9 B9 @an @

(2x = 3y)2 — 4(x = Ty)(3x + 2y)

= 4x? — 12xy + 9y? — 4(3x% - 19xy — 14y?)

= 4x2 — 12xy + 9y? — 12x% + 76xy + 56>

= —8x2 + 64xy + 65y°

Wt a4+ b+ c = -8+ 64 + 65 = 121 ©|c},




15, (2x+4)(x+3) = (x=5)(x+ 1) = 7103 542 of, x o] Ao}

D 11 @ 21 3®)31 @ 41 ® 51

(+=41) =(2x% + 10x + 12) — (x? —4x - 5)
=222+ 10x+ 12— x> +4x+5
= x2 4 14x + 17

oA x O] Aot o] 2 14417 = 31 o] "ok
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@ x®*+2x+15 @x2+2x—15 @ x2-2x-15
@ x*+3x-15 ® x2-3x-15

(RAAE e deol) = (712) x (M=)
= (x=3)(x+5)
= x2 +2x-15




17, (x+1)(x+3y+1)E A7HstH?

O xX2+x+1+xy+y @ x2+2x+1+xy+2y
® x*+2x+ 1+ 3xy+2y @x2+2x+1+3xy+3y

® x4+ 3x+ 1+ 2xy+ 2y

B

x+1=AR 2&stH

(Fo1 A)=A- (A + 3y)

=A%+ 34y =(x+1)2+3(x+ 1)y
=x%+2x+1+43xy+ 3y




18. x(x-1)(x+2)(x=3) = x* +ax® + bx? + cx WA &5 a, b, c 9] 3
a+b+c9 P27

® -3 @—1 ® 2 @ 3 ® 6

B

x(x=1)(x+2)(x-3)

= {x(x = DH(x+ 2)(x - 3)}

=2 -x)(x2-x-6)

2 —x =12 |25t t(r - 6) = 1> - 6t

t=x% - xE ddsto] FeotA x* - 2x3 - 5x2 + 6x
etA a+b+c=-2-5+6=-1°|c},




19.

D 2012 = (a-b)?

@ 499° = (a+b)?

® 9972 = (a+b)(a—b)

@ 103x97 = (ax+b)(cx+d)
@104x105 = (x+a)(x+b)

B

@ 2012 = (200 + 1)2 = (a + b)?

@ 4992 = (500 — 1)2 = (a — b)?

® 9972 = (1000 — 3)2 = (a — b)?

@ 103 x 97 = (100 + 3)(100 — 3) = (a + b)(a — b)




20.

x4+y=5 x4y =13 4w, xy o] gk2?

® -6 @ -12 ® 4 @6

B

® 12

(x+3)% =2 + 2xy +y°
25 = 13 + 2xy

2xy = 12

Soxy==6




21. (x+y)?+ (x—y)? & Ztds] AejstA?

@D x? +y? @ x? 4 2xy +y?
G?D)Qx2 +2y? @ 2x% + xy + 2y?

® 2x? + 2xy + 2y?

(% + 2xy + y?) + (5 = 2xy + y?) = 2x% 4 2y?
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23 47
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23. (x-3y+2)22 AL

@x2+9y2+4—6xy+4x—12y
@ x?43y* +4—6xy +4x— 12y
@ x? 43y + 4+ 3xy—2x+ 6y
@ x% +9y? +4-3xy +2x -6y

® x2 43y +4-3xy+2x—6y

B

x -3y =12} 5tH
(x=3y+2) = (1+ 2
=r+4r+4

= (x=3y)?2 +4(x—3y) +4
=x2—6xy+9y? +4x—12y +4
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@2 @10 ®2a @ @®33 O

B *
(3x—2y+2z)(5x+2y—2)
= {8x = (2y - 2)H5x + (2y - 2)}
2y-z=AE &3
(Bx—A)(5x+ A)
= 15x? — 2xA — A2
A =2y-zE HstH
15x% = 2x(2y — 2) - (2y - 2)?
= 15x2 — 4xy + 2xz — 4y? + 4yz — 22
Lxy,y, i B4 Ae d —44442=2
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311 x 311 — 310 x 312

-2

@ -2 @—1 ® 0

B

@ 1

a =311 °|=} 5},

311 x 311 - 310 x 312 — 2
=axa-(a-1)x(a+1)-2
=a’-(a®-1)-2
=a’-a*+1-2=-1




